ExXTRA

Solve by completing the square
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to obtain exact solutions.

28. x> + 8x = —15
30. x> = 22 + 10x
3.5+ 6x+ 13=0

34.2x% — 5x—3=0

Use the quadratic formula to find exact solutions.

35.x2 —2x=15
. 2
37tsm” + 3m =12

@M + 6= 10x

4Lt +x+2=0

45.3x% + 4 = 5x

'7;§x2—8x+5=0
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53,562 + 2x = —2
For each of the following, find

36. x> + 4x =5
38.2y2 — 3y —2=0
40.3t> + 8t +3=0
2.5+ 1=x
44,55 + 2= x

46. 217 — 5t =1

48.x* —6x+3=0 !
50. 5x% + 3x = 1
52.4x* +3=x ||
54.3x> + 3x = —4

the discriminant,

¥ — 4dac, and then determine whether one real-
number solution, two different real-number solutions,
or two different imaginary-number solutions exist.

55.4x% = 8x + 5
57.x2 +3x+4=0
59.5¢2 — 7t =0

Find the zeros of the function.
flx) = x>+ 6x+ 5

63. f(x) =x?—3x—3
65. flx) = x* — 5x + 1
[67.fx) = x* + 2x = 5
69. flx) = 2x* — x + 4
@Jf(x) =3x* —x— 1
/@%
(73 flx) = 507 = 2x = 1
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75 fx) = 4x* + 32— 3
Solve,

7.5t =32 +2=0
78 x! + 3 = 4x?

9.xt 4 3x% =10

56. 4x? — 12x+9 =0
58.x2 —2x+ 4=0

60.5t% — 4r= 11

62.f(x)=x2—x~2

64. f(x) = 3x” + 8x + 21|
66. f(x) = x> = 3x— 7 1
68. flx) = x> —x— 4

C70. flx) = 2%+ 3x+ 20
72 flx) = 3x* +5x+ 10

74. f(x) = 4x> —4x — 5
76. f(x) = x* + 6x — 3
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